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Problem Solvin Steps
The General Education Diploma Math measure your ability to sotve ‘real lrfe
lems.  This educational ulatlvels de&gled forﬂleadult leameér who needs qm
ooncise ‘Iﬁesha”ofthe(xn tomake an“adequatesooremﬂleGEDMaﬂlexam
handoutrs also for the leamer who is discovemg these conoepts for the first tlme"ﬂus examrs \IOTabout
computation. Itlsabotnpmblemsol\mghmhm f, oughts about these word
%mblerm it is helpful to follow A straTEGY based on these simple seps: (1) Read and raead problem; (2)
ind action verbs; (3)Decide which operation; (4) Carefully do computatian; and (5) Check to make sure
your answer i reasonable and that it answers the f}uem(n in asms?bleway Raeadt%el;)rob em apieceat a
time. TIP: Draw a sketch to get a better mental 1d1neofwhamsbemg ﬂnemger
problems cortain more informationthan youneed while erwordpmblems onthe GEDhave “Not enough
mﬁntﬂ:msglvm”whldnsavahdanswer TIP: Thereis no one “right” way to do a math problem, use
different esto arrive at your answer.
ADDITION WORDS: total, plus, whole togsther (Youcan a(iirrxxewadstoﬂns]ﬁ, )
SUBTRACTION KEY WORDS: Minus, difference, before and after,
EDS Tlnm, going from (netomany, etnple,peroentoﬁ interest of]

1\§ know rate andtime),
DIVISIO RDS %}ﬂ,aﬂ,av from manyto one,
BASIC _ARITHMETIC SHORTCU: ESTMAT]ON O D]NG is an extremely

important skill o use because it will allow you to approximate the actual answer. For

example Joe went to the grocery store and bought h al?a dozen apples for .99 and a jar of]
eanut butter for $2.49. at was his total bill excludréxt%]tax? (F) Round off .99 to $1.00

? 2) Round off $2.49 to $2.50 (3) Add the two totals tofether to gef approximately $3.50. If]

you ourself “in the situation” of any word problem it w1 l help you undeérstand the
rob em etter!

'LTIPLYING: GENERALLY, WHEN MULTIPLYING TO GET YOUR ANSWER YOU cAN ESTIMATE

700. FOR ExAMPLE: IF JANE NEEDS 25 CHAIRS ON EACH ROW, AND THERE ARE 100 rRoWS, HOW|
MANY CHAIRS WILL SHE NEED TO FILL THE AUDITORIUM? ANYTIME YOU MULTIPLY IN THE BASE 10
NUMBER SYSTEM JUST ADD THE NUMBER OF ZEROS TO THE ORIGINAL NUMBER. LE. 100 HAS Two
ZEROS, SO ADD THE TWO ZEROS TO 25 TO GET THE ANSWER OF 2500 cHaIrs. IF THERE wERE 10,000
YoU WoULD DD 4 zERos. The DISTRIBUTIVE PROPERTY states that A(b+c) = Ab +Ac.
Ex. 4 (5+2) = 4(5) + 4@2) = 20 + 8 = 28 REMEMBER: If a number is outside the
parenthesis or any grouping symbols {[ }] you multiply.
MEASUREMENT: A CONCISE METHOD OF SUCCESS: BE FAMILIAR WITH THE FOLLOWING|
MEASUREMENTS. WHILE THERE AREMANY MORE, THESE ARE THE MOST FREQUENTLY USED. Y OU WILL BE ASKED TO|
CONVERT, BUT NOT FROM ENGLISH TO METRIC. THESE ARE ENGLISH MEasuremenTs: 1 foot = 12 inches; 1
yard=36 inches; 3 feet =1 yard; 1 mile= 5,280fed, lmlle 1760yanh 1 gallon = 4 quaits; 2 pints = 1
%SZW&ksmayeur 12 months in a year; 16 ounoes =

1/6 =.166 = 16.6% or 16 2/3%
5/6 = .833 = 83.3% or 83 1/3%
1/3 =.333 = 33.3% or 331/3%

3/4 =75 =75%
2/3= .666 = 66.6% or 66 2/3%
5/8 = .625 =62.5% or 622 %

PERCENTAGE: % Mzans ararr oF 100. 6% sALES TAX MEANS .06 43 A DECIMAL AND 6/100 as arracTioN. To cHANGE
4% 0 ADpECIMAL MOVE THE DECIMAL TWO pLacEs LEFT. Ex. 12.5% =.125=125/1000 = 1/ 8 IV FINAL REDUCED

rorm. To CHANGE A pEcMAL (.625) TO

A % wmove THE pEcMAL TWO praces to he RIGHT. FINDING THE

WHOLE: These type of % word problems are identified when you know the answer is larger than the other
two numbers. EX. Bob paid $14.70 tax on a new camera. The sales tax was 6%. What is the cost of the
camera & final cost. 14.70/.06 = $245 camera + add the $14.70 tax = to get $259.70 FINDINGTHE

PERCENT: part/whole=% Ex. Ina GED class their are 10 men and 20 women. Women make up what % of the
class? 20/30 =2/3 = 666 or 66 2/3% REMEMBER:(Strategy)You can

change a fraction into a % by multiplying by 100.

STATISTICS: THE MEANIS ALSO
THE AVERAGE. ADD THE NUMBERS
AND THEN DIVIDE BY THE TOTAL
AMOUNT OF NUMBERS. THE MEAN OF
100, 90, AND 80 1S EQUAL TO 270/3
=90. THE MEDIAN 1s THE MIDDLE
NUMBER IN A ORDERED GROUP. EX.
1,2,3,4,5 THEMEDIANIS 3. IF THERE
IS AN EVEN AMOUNT OF NUMBERS,
ADD THE TWO MIDDLE NUMBERS AND
DIVIDE BY 2. EXx. 50, 60, 70, 80
ADD 60 +70 = 130/2 =65. THE
MODE 1S THE MOST FREQUENTLY

CURING NUMBER IN A SEREES. EX.
3452236373 THE MODEIs 3
BECAUSE IT OCCURS 4 TIMES. 2
MODES = BIMODAL. THE RANGE 13
THE DIFFERENCE BETWEEN THE HIGH
AND LOW NUMBERS. ALWAYS
SUBTRACT TO FIND THE RANGE. THE
RANGE oF 30, 27, 40, anD 50 18
g B%:AUSE 50(mGH) - 27 (Low) =

Notation: A shorthand method ofwriting large and
in an abbreviated form. First, you must
know Base 10 number system. (IjkeﬂleMeﬂlcSystun)
10°=1 10'=10 Eadlhmeﬂlemﬂtsl()mlarger
I(P—IOO =10x10=100

10~ 10000r 10x 10x 10 Order of Operations: The stcps o
10 =10,00&, (4th power) a  multistep  problem:
10 100,000; (Sth) Parenthesis, inner before outer,
105 Power= 1,000,000 Powers, MultDivision, ADD/
10 10’000’ SUB. in the order they appear
from left to right. REMEMBER:
10 =100,000,000 P.P.M.D.AS.
Small Numbers are always noted

by a negative (-) power or
exponent. 10! = 1/10 or .1, 1072 = 1/100 or .01, 107 = 1/1000
or .001.(Metric) Ex. Hair grows at 10°  to the negative eighth
power) in miles per hour. What is the decimal equivalent?
.00000001 or 1/100,000,000 mph. TIP: The exponent or power
is also the number of zeros in the decimal or whole number

equivalent Ex. 10(8th power) = 100,000,000. RULE: Any
number to the zero power is 1. Rule: Any number to the 1st power is
that number. Ex. 9'=9 whereas 9° =1. Also, 4%=1/16, 67%=1/36, 273=

1/8, RULE: A negative exponent always has a 1 as the numerator.

pound,
er=len, Gram= sohd webg'nt Lrter—h?uld %Jamrty, the following are the
most common (not allj prefixes: Kilo= 1/ 100 milli = 1/1000
(Compare with scientific notation) Therefore 1f John hasa board that is 2.5 meters long it is
equal to 250 centimeters because 2.5 x 1 0.cm. To better 111ustrate a oentlm 1s
about as wide as_your smallest hngernaﬂ a decnneter is about as wide as you hand.
{mlhmagr about the width of a dime; a meter is a little longer than a yard, and 13’ eris srmﬂar
0 a qua:
FRACTIONS: T @;}r_{ The top mumber or mumerator is smaller than the bottom mamber or
denommator. €X_ 3/ /7 15/32 top number is equal to or greater than the denominator. ex.
13/3 5/5, 17/6 foedNumbﬂ' oenumbﬂanda fraction. ex 3 4/5 19 7/8, 54 3/16 Note:
grtﬁelr ama always be reduced to lowest or simplified. Ex. 50/100=1/2, 100/120
—3/ ferent combinations or ﬁ;dxxs numbers will assist you in factoring, It takes
practice at first. ane some ALGORITHMS: RITHM 1S A TERM FOR A COMPUTATIONAL
PROCEDUREKNOWTHEXEALGORITINSTOHEIPWH‘HFRACHONSANDFACIOR]NG ANUMBER IS EVENLY DIVISIBLE|
BY “2” WHEN IT’S AN EVEN NUMBER. A NUMBER IS DIVISIBLE BY “3”” IF THE SUM OF THE DIGITS IT DIVISIBLEBY 3.
Ex. 237152+3+7=12; 12 1S DIVISIBLEBY 3 S0 237 IS DIVISIBLEBY 3. A NUMBER IS DIVISIBLEBY *“4”” WHEN THE
GIVEN NUMBER IS DIVISIBLEBY 2 AND THERESULT ISEVEN. EX. 492 WHEN DIVIDED BY 2 18 246; 246 1S EVEN AND
DIVISIBLEBY 4. 230 ISDIVISIBLEBY 2 BUT 115 ISNOT AN EVEN NUMBER AND THEREFORE 230 IS NOT DIVISIBLEBY
4. A NUMBER IS DIVISIBLE BY ““5”” IF THE NUMBER ENDS IN “5”” OR “0”. A NUMBER IS DIVISIBLE BY “6” IF THE
NUMBER IS EVEN AND DIVISBLEBY 3. Ex. 186 1S EVEN AND 1+8+6 = 15 WHICH IS DIVISIBLEBY “3”” MAKING 186
DIVISBLEBY “6”. A PRIME NUMBER IS A NUMBER WHICH ONLY HAS 1 AND THAT NUMBER AS AFACTOR. Ex. “7”
IS PRIME BECAUSE THE ONLY FACTORS ARE 1 X 7 WHEREAS THE OPPOSITE OF PRIME Is COMPOSITE. A
COWOSI’I’ENUMBE{CANBEE\IENLYDIV]DE) INTOFACTORS. Ex “24”°=2X12, 4X6,8X3, and24 X 1.
Therefore, you reach number in the numerator and denominator you 1 CANNOT reduce|
further. Ex. 17/41,7/11, ana’ 9/23a1eallnlme«1tmmADDﬂVG/SUBmA 'G FRACTIONS: When
denominators are the same sm;)ly add/subtract the top mumbers. Ex. 2/5+ 1/5=3/5. 14/15 - 3/15 = 11/15. When
axed:ﬂémnywmlstﬁmiahs&axmmdmmmm )Ex. 2/6 + 1/4 The LCD is 12 because the
denominators 6 and 4 %)wengr mto12. 2/6=4/12, 1/4=3/12and4/12+3/12=7/12. The same is true for
subtraction. Ex.6 4/5- 32/3 12/15- 3 10/15 becanse “15” is the LCD. Subiract the whole mumbers 63 = 3 then the
ﬁaﬁmuﬁog 2/15. Answer:3 2/15 To change an I% ﬁacﬁnn like 47/15 atways divide, The remainder is the
41/4-2 6/7 you getthe of 28 andthen the fractions to .ie
41/4 4 7/28 119/28- 80/28 39/28=1 11/28. MULTIPL’ FRACTIONS: No Ne=D TO
FIND A COMMON DENOMINATOR IN MULTIPLICATION OR DIVISION OF FRACTIONS. IF YOU HAVE A MIXED NUMBER
LIKE 5 ¥4 CHANGE IT TO TWO NUMBERS OR AN IMPROPER FRACTION = 21/4. REMEMEER: ANY NUMBER TIMES ITS
RECIPROCAL 18 “1”.  TIP: TO DETERMINE IF ONE FRACTION IS LARGER OR SMALLER THAN THE OTHER, MULTIPLY
THE CROSS PRODUCTS AND CHOOSE THE LARGER NUMBER . Ex. 4/5 <7/8 BECAUSE4 X 8 =32 anD 5 x 7=35.
SIMPLIFY IF POSSIBLE BY CROSS-CANCELLING. LE 6/8 X 4/12 6 GOES INTO 12 AND 4 GOES INTO 8 THEREBY

Distance= Rate x Time
300 miles= 60mph x 5
hours, How Far? D=RT;
How long?T=D /R; How
fast?’R=D / T;

ING THE PART: Mult thewholex % Ex How mudhtax

% ; D THETFTRENE FEIVERN THE (UANIES AD
TENIME FX NAGAS & ) SKEeNs 4MEE Wi AT WHT B TE%N
apeENae? Dvsremmmaed <20 oar 1/ 5=0=Aormes

Interest = Principal ($) x A4# | Ex Framea Amwmmﬁ‘ﬂ)m $A00) 5 RN WeT

X Twme

Y% amas? DurremmsaeE® Q0w ey vaE$D var
133 =3 1 omms SUCCESSIVE %: Do not
always add two percents together! Ex. If a used car

Percentage Device: Use this device sellm for $5000 was reduced by 5% one week and

to determine whether to multiply or

y 5% of that already reduced price the next
week, what is the new sell price? MuLt. 5000 x.05 =

divide in a % problem. i.e. To find the | 250 rEn supTrACT 250 FROM 5000 = 4750. MuULT
PART, cover up the word part, leaving | 4750 x.05 = 237. 50 AND SUBTRACT THIS FROM 4750

Whole x %. The WHOLE is equal

to |wmicH = $4512. 50. CONTRAST THIS AN

SWER WITH
the part divided by the %. The % is 10% or $5000 = $50000 $5000 -500 = 4500.

equal to the part divided by the
whole.

e [650r6/5 NOTII/S‘orll/Sbemuseymnewr
liéthtb.e ';hsem;' annxedrgmnba)PROPORﬂON Two?il_'_ Ex%}3
PART atls the ne 5 dentists prefers toothpaste A and a IOOWﬂesur-
number in this yoeq thic means that sopmcermlpase

series? Y5, %,

WHOLEX % swer is 1%4. Y

1%, . Thean-

addY each time.

Tuere 1s A $12.50 DIFFERENCE BETWEEN THE TWO
COMPUTATIONS!

TIO: A way of decribing a between two or]
numbers, Ex 2:1 =2to1, 4t05 or4/5 3025

1,
7 5'6
diagonally 9 X 56 = 504 and then divide by 7 = 72 Notice fhe
ssunﬁslamﬂmﬂje 1st. TIP: It is very helpful to line)
likethe le below to maintain correct order.
ﬂlmnbuy6()naﬂsfor .60, how much would 100 nails

ou

REDUCING THE ANSWER TO 1/4. TIP: ANYTIME YOU WANT TO ““OF”” SOMETHING YOU MULTIELY. Ex. WHAT IS %4
oF ADOZEN? % x12/1=9. DIVIDING: ALWAYS DIVIDE THE WHOLE AMOUNT BY THEPART. EX. BILL WANT
TO MAKE SHELVES THAT ARE 2 1/2FEET EACH. HOW MANY SHELVES CAN HE CUT OUT OF 45 FEET OF LUMBER?
45/1 + 5/22=45/1 x 2/5, 5coEsINTO“45” 9 TIMES. 9X 2= 18 SHELVES. ALWAYS “FLIP” OR INVERT
THE SECOND NUMBER AFTER THE DIVISION SYMBOL ( DIVISOR). DECIMALS: DECIMALS ARE A WAY OF WRITING
FRACTIONS WITHOUT A DENOMINATOR. Tmcmmmrmmoumw Ex %=.75 (THNK ABOUT
MONEY) EVERY NUMBER HAS A DECIMAL POINT. IF IT’S NOT WRITTEN IT Is AFTER THE NUMBER. 4 = 4.000)
KNOW THE PLACE VALUE OF A NUMBER .1 = ONE TENTH .01 = oNEHUNDREDTH .001 = 1 THOUSANDTH .0001
= ONE TEN THOUSANDTH 00001 = ONE HUNDRED THOUSANDTH. IT IS IMPORTANT TO PUT THE ““TH” AT THE END.
ADDINGSUBTRACTING Ir GIVEN THE NUMBERS HORIZONTALLY ALIGN THEM VERTICALLY WITH THE]
DECIMAL POINTS ON TOP OF EACH OTHER.ADD ZEROS IF NECESSARY. Ex. 9.002+.0003 +7=

9.0020 <—WHEN ADDING/SUBTRACTING

0.0003 ‘WHEN MULTIPLYING, —> —> 875 (2 PLACES)
+7.0000 x006 3 PLACES)
16.0023 <— 16 AND 23 TEN THOUSANDTHS.U05250 IN BOTH PROBLEMS THE ZEROS ARE
NECESSARY .
WHEN multiplying by 10, 100, 1000 etc. move the decimal point to the right by the

same number of zeros. Ex. 4,234 X 100=423.4 .24 x10=2.4 Some COMMON fractions
and the % and decimal equivalents which you should MEMORIZE to save time.

1/4 = 25 = 25% 1/8 =.125 = 12.5% or 12,%
1/5=.20 = 20% 7/8=.875=87.5% or 87 V:%

Proportion Application: Congruency

or Similarity

=339 which is .06 per nail then muLTPLY by 100 =

60na|]s 100nails 3.6x100=36+ 6 =6
B0 =57 Answer: $6.00
Another strategy is to find the unit price of 1 naxl 3. 60/60)

In the right triangle at the left or the circle above,
the vertical purple line combines with the green
(horizontal) to form a 90 °degree angle. The red

12m

Pythagorean lines are the “C” side or hypotenuse. To find the
Theorem length of the hypotenuse (C) multiply 6 x 6 and App

to 8 x 8. Take the square root of V100, (what

2 __ a2 2
C =A%B" | ,umber times itself equals 100) = 10.
Try this using a ruler and A=3,B=4, C=35. In the larger triangle C=15.

WHY? Memorize these “triplets” of numbers! {3,4,5} {6,8,10} {5,12,13} {(9,

8m

tant theorem in

12,15} {15, 20, 25} or any multiples of these numbers are proof of the
Pythagorean Theorem! This theorem has been considered the most impor-
©9

ALL of the mathematics subiect areas!!




A Concise Method of Success Geometry, Algebra, Charts & Graphs

Pie Charts divide the circle into various representative sections. It can
depict many variables. It sections

or percentages of a whole amount. Ut one of the sec-
left without a number. To find it, add the sections and
mlﬁmtﬁunlﬂﬂ.(}mmiy Y.

Bar Charts are another way of ex-
pressing data graphically. At the left
fi I Be careful in your »  gre the amount of dea by coro-
s00a stin of the numbers! los heart disease (CHD) decline an-
ason o7 :ﬂﬁy over a period of years. TIP:

T B sg01500.,,0 :: Always ay “ 9
won I ',,,qmm a ﬁlr):l ion” or “per 100,000

ntion to enumbgrrs
()
the difference in the rate of

CHD deaths between years you

oz
02
0.1

Annual deaths by CHD

A Person's Popularity

weanoeo
P S ]

should subtract. “PER” means One.

A LINE GRAPH measures horizontally and
ays read the titles and the mea-
sures. It usuallv measure 2 Vanabla(luvmate)
overhmelikeﬂlebargq)h th]sg'aph,a
gmmspopuhmvhasdedmedandmmm
sunk to a new alltime low. (Must bea
pohtlcaan)

LINEAR FORMULAS = 1 dimension = Perimeter & distamce around a
circle) AREA formulas always have square units Ex. meters2 VOL formmlas have
— cubicwnits. Ex.feet® or CUBICFEET. E —
Ex. r,m is Equilateral triangles have Scalene has n§
mknowthedsmme threeW equal sides. LENGTH=L equal sides.
;i"&'i"l mnmy‘e@‘feiff%m““wﬁﬂg
e A AREA= region inside = LW
P-2@5H40) ~ P-2(65) =130 \
feet at is the Area of the
back%d" A— A— x25
o e Perimeter= 2(L) + 2(W)
diwde by Answer:
AREA: Ex. Paula is putting down carpet in her new home. The
P=A+B+C - dining room is 15" x 10°. How many square yards of carpet does she
w“:’ need? A=15x10 = 150 sq.ft. (divide by 9 to get sq.yds) = 16 2/3 yds*.
mﬁ She needs to buy 17 yards and will have 1/3 square yards left over.
equalsides 9 . '
S |u Height is Circumference == (d) or 3.15(d) or C=2(pi)r  Radius =%
BASE =7 always the ¥ Di
AREA = vertical .
2 TIP: Any ftrimiht; THE AREA OF A
trimgehs o, o CIRCLE IS FOUND BY
18P s the istance MULT. IT1 * R ¥ R.
BH a8 a triangle. — I
A=== smndfthe3 How do you (A= n®’) Ex. Irr
2 angles. measure your =7 muLT. 3.14(49)
height? = 153.86 sQ. UNITS.

IFr THE PROBLEM
TIP: WHEN WORKING A WORD PROBLEM THAT INVOLVES A SHAPE YOU SHOULD

GIVES THE DIAMETER
TRY TO DRAW THE FIGURE. THIS HELP YOU CONCEPTUALIZE. ALSO, REFER AS DIVIDE BY 2, THEN
OFTEN AS YOU NEED TO THE FORMULAS. REMEMBER, NOT ALL OF THE FORMU- SQUARE THE

LAS GIVEN WILL BE USED ON YOUR TEST. HOWEVER, IT’S BEST TO BE PREPARED! NUMBER AND MULT.

BY 3.14 0rR 22/7.

SQUARE
& A chemical drum has a height of
4 feet and a radius of 1 ¥; feet. Any 4 slded
What is the volume? 3.14x1.5x ngweisa | P=4s (s =side)
1.5 x 4 V=28.26 cubic feet or 28.26 quadriiateral | Apeq =g2
ft2  NOTE: II (pi) = circumference Perpendicular lines
divided by the diameter I =9g° >

€= A trapezoid is a quadrilateral.

9 feet

Rating 18

TIP:AsSocrE THEWORD “SupPLEMENTARY? Wirs 180°
AND ANY STRAIGHT LINE ORHALF OF ACRCLE

55 —obasec. /4

¥ REFLEX, =181°-> 359°

WSTRAIGHT ~. = 180°

A B
Right
Angle Acute
0
90 é\

X

ALGEBRAIC PUATIONS OR SOLVING FOR THE
UNKNOWN; ILL BOUGHT SOME BOOKS ON

MONDAY. WHEN ADDED TO THE 8 HE ALREADY HAS THE
TOTAL IS 13. How MANY DID HE BUY ON MONDAY?

xt8=13 x-8=13 8x=24 x3-8
=138, x=1348 x=3 x=24
x=5 x=21

s

ToO ANSWER AN EQUATION THAT HAS A VARIABLE LIKE “X’
FIND THE NUMERICAL VALUE FOR THE LETTER. (Ex#1) Use

THE INVERSE OR OPPOSITE OPERATION METHOD LIKE ABOVE.
You can ALWAYS CHECK AN EQUATION TO SEE IF IT IS
correcT! _LINFAR FQUATIONS: THE STANDARD FORM
OF ALINEAR (GRAPH)EQUATIONIS” Y=Mx+B.Ex Y=3x
+2 3 =M= THE SLOPE, 2 = B = THE Y-INTERCEP'I(WHERE
THIS LINE WOULD CROSS THE Y AXIS). ALWAYS CHANGE AN
EQUATION TO THE STANDARD FORM BEFORE GRAPHING! Ex. 3y
=6x-9 WouLp BE Y = 2x -3 AFTER DIVIDING ALL THE
TERMS BY “3”. THE SLOPE WOULD BE “2” AND THE Y-
INTERCEPT WOULD BE A “-3”. PARALLEL LINES HAVE THE
SAME SLOPE, WHEREAS, A LINE THAT IS PERPENDICULAR (90
DEGREE ANGLE) HAS THE NEGATIVE RECIPROCAL OF THE SLOPE
OF THE SECOND LINESEE GRAPHS SINEQUALITIES < =
LESS THAN -6 <0 0 > - 6 GREATER THAN. < LESS THAN OR
EQUALTO, > GREATER THAN OR EQUAL TO.

OBTUSE 91°

—179°

Volume = 3 dimensions = LENGTH (L) qﬂ‘wa 10° Most word
Irhigt  [Rectmgular 3 WIDTH (W) and HEIGHT (H)=9x 10 x 8 TRANSVERSAL M mbﬂwm 70° 7 problems
Container W) 0 mvo angles
7=3.14...or | Formula: 10Ft = 720 Cubic feet or 26.66 cubic yards {27 | , ., oo b o 110° use buildings and
2277 |v=LwH cubic feet = 1 cubic yard. 1728 cu. : trees. Ex.

inches=1cu. ftor 1 ft Angles 1 & 5 are equal. the ceil meets
= X 1 2 Angles 2, 3 are equal. the floor forms a
The Volume of a cube can be found by muLtipLYING the length Cube nght ,al],ltgle'f 4
3 4 240 % 0 0] (1) a
of one side times itself 3 times. For example, if the length is 60 Y:’i Y / Angles i;:izl:;_l:mmw m:e:::: angles angle :vould
cm, then V= 60x60x60 or 216,000 cubic feet or 216,000 ft.> s /s alveays cq ']’)‘;“ s ot
’ / 8 Angles 1,8 & 7,2 are opposite exterior gtla's%tn is being

ELEMENTARY ALGEBRA: (30% OF TEST) Tus ABSOLUTE VALUE USES THIS SYMBOL and are alwa ual.

AND IS DEFINED AS THE DISTANCE A NUMBER IS FROM ZERO. ABSOLUTE VALUE IS POSITIVE UNLESS THERE yS eq

IS A NEGATIVE SIGN PRECEDING THE ABSOLUTE VALUE SIGN - | -3 | = -3. SOMEBOOKS PREFER TO TEACH THE
ABSOLUTE VALUE METHOD OF LEARNING THE RULES OF INTEGERS...] DONOT. MEMORIZE THESERULES
OF SIGNED NUMBERS OR INTEGERS: (1) IF THE SIGNS ARE ALIKE, ADDTHENUMBERSANDGIVETHEANSWER
THAT SIGN. Ex. -4 +-3=-7; 23+2=25 (2)Ir ’l'HESIGNS AREDDTF
GIVE THE ANSWER THE SIGN OF THE LARGEST NUMBER. Ex. -3 +2 =3, 5 -tI'}(iG)Y 3 NOTE IF A
NUMBER DOES NOT HAVE A SIGN IT IS UNDERSTOOD AS BEING posmvxz' A: ENVISION THE
NUMBER LINE OR A THERMOMETER TO GET YOUR ANSWER OR STRATEGY B: IMAGINE YOU ARE TRYING
TO BALANCE YOUR CHECKBOOK. EVERY NEGATIVE IS A DEBIT AND EVERY + IS A DE’OSXT/CREDIT
RULF #3: SUBTRACTION: ALWAY'S CHANGE THE SIGN OF THE NUMBER BEING

ND NUMBER) AND THEN FOLLOW THERULES 1 & 2 FOR ADDITION. EX. -9 - (-2) = -9 +2 = -7 OR 9 -
(2) 9-2=7STRATEGY C: SINCE YOU ARE SUBTRACTING YOU ARE STILL FINDING THE DIFFERENCE
BUT NOW ITS WITH POSITIVE AND NEGATIVENUMBERS. ASK YOURSELF HOW FAR (DIFFERENCE) IS A -9 FROM
A-27 (: 7% RULE 4/5:MULTIPLIC. AT ]ON & DI VISION: I THE SIGNS ARE ALIKE,

NUMBm IF THE SIGNS OF 2 NUMBERS IFFERENT, IT’S NEGATIVE. Ex. (-5)(-2) = +10 OR( -3 SI)
=-12 -15/3 = -S wm«maAs -18/-3 =6. RULE 6: WHENMULTIPLYTNGSEIE{ALNUI\ABE{SIFYOUHAVE
AN EVEN NUMBER: NEGATIVE SIGNS YOUR AN: TVE. AN OD! NEGATIVE SIGNS IS
WAYS NEG, -4 = +24 WHEzEAs( 3)(-2)(-4) = -24 POWERS P=(4)(4)=16
23' (2)(2)(2) 8 53 = ( IF YOU ARE WORKING WITH FRACTIONS THE SAME IS TRUE %4
‘O THE SECOND PO OR 3/4 x 3/4 =9/16. STRATEGY: ORIZE THE SQUARES OF THE

FIRST 15 NUMBERS TO EXPEDITE THE PR( s. ROOTS: You wiL

USE THE PRINCIPLE SQUAREROOT SYMBOL ¥ _ WHICH IS THE OPPOSITE

OF SQUARING A NUMBER. EXPRESSIONS LIKE FORMULAS, JUST
SUBSTITUTE THE NUMBER FOR THE VARIABLE (X (Y) .Ex. 7(A)B) -B WHEN
A=3 anp B=2 7(3) —2 21-2 = 19. HAVE TO
REMEMBER THE FORMULAS ON THE GED THEY WILL BE GIVEN AS
REFERENCE.EQUATIONS: SHOULD BE THOUGHT OF AS A SCALE OR BALANCE.
AN EQUATION HAS A LEFT AND RIGHT SIDE WITH THE = IN THE MIDDLE. DO THE
INVERSE OR OPPOSITE OPERATION WHEN GROUPING ALIKE TERMS SUCH AS 2X
AND 3XAND 4 AND -3.TTP: ANYTIME YOU TAKE A VARIABLE FROM ONE SIDE
OF THE EQUATION TO THE OTHER, YOU ALWAYS CHANGE THE SIGN OF THAT
NUMBER OR VARIABLE. (SEE ABOVE NEXT comw;). POLYNOMIALS:
ARE GROUPS OF NUMBERS AND LES. GENERALLY,
N DESCEN'DIN(J ORDER RANKED BY 1D HIG}MI‘ POWER 16
THE LOWEST. FOR EXAMPLE, 3X* + 2X + 4 THE DEGREE I8 2. THE
COEFFICIENT IS THE NUMBER m mom TI-IE COEFFICENT OF 3X* 1S 3 AND
THE COEFFICIENT OF 2X IS 2. THE C VARIABLE WITH NO
NUMBER LIKEY OR X* 18 ALWAYS 1. YOU CANNOT COMBINE VARIABLE
UNLESS THEY HAVE THE SAME TERMS AND DEGREE. EX. 3%* + 5X CANNOT BE
COMBINED. POLYNOMIALS FOLLOW THE SAME ABOVE RULES FOR INTEGERS. EX.
-2X+ 5x=13%, 5a%+A?= 6A2.. MOST OF THE ALGEBRA INVOLVES “SET-UP”
QUESTIONS...YOU HAVE TO BE ABLE TQ TELL “HOW” SOMETHING WOULD BE
CALCULA’ X" 1S THE UNKNOWN. MAKE ITKNOWN! THAT STHEANBWER!

4
16
36
64
100
14
196
256
@5
15

CARTESIAN COORDINATE SYSTEM :
X-intercept is where a line crosses the X axis Ex. (6, 0 )The
intercep the -

2DIMENSIONAL:| Y AND X

zero is
line crosses the Y axis. Ex. (0,5

ALWAYS second. The Y - t is where
The zero ALWAYS is first.
P ]
Y AXIS A
[0 LA g =
] Qngdrang 11 Ty +—
T Rm=10
(] Posllive & %W
iB Xoaxis 1]]ls432 2 5678
LT
52 =
| S+2= -4
PSR , 7= 4=
W N E  pisTANCE/ - —
T B i ol (8 %77fff_
L L ! !
SLOPE = STEFPNESS OF A LINE, GRADIENT, RISE/RUN, or PITCH or “M”
A AnOroezepParor | T
Positive NUMBERS S INTHE HE VERTICAL
UNDEFINED-> SlopeN orverorX, Y. (Six DISTANCE E?;LWA%
) TeE: POSITIVE. Tee
516 BECATES - (8) | DIAGONAL DISTANCE IS
=_31_+3=16- o 17.08 WHY?
=AZ+B2
L~ momesfle | C=A*+B BEST OF LUCK!
N 4 <0 : ANDREW PAGE
i Negative ’
Slope /
Zero
Slopeds 3,6 2 _6
‘The mumbers below x & y are subscripts nd used ta socond They

Slope formula: g o YooY
o ot SEPoRS, %:}‘




